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T H (5 4 1) (4 2 t1) (51 fh) (22 ) (4 ft) (144%1) (26 )
M OE kI A 1,698, 332 T/l 930, 488 T/ 1,462,995 T/l 263, 820 1 32,224 4,091, 815 Tf 296, 044 1
(H [ 3.2 % 2.7 % AL.8 % +1.4 % AL.8 % A2.6 % +1.0 %
O L A 37,349 H 40, 137 1 42, 887 M 30, 165 22,409 H 39, 816 Y 29,070
(%18 154D) +0.7 % +2.3 % +1.2 % +4.8 % 40.3 % +1.3 % +4.1 %
E 48.9 % 50.4 % 49.6 % 51.0 % 51.7 % 49.5 % 51.1 %
A0.1 7 +0.3 7= +0.1 7% +0.8 7= +0.3 7 +0.1 7= +0.7 7
ESN 69.5 % 63.2 % 73.1 % 66.9 % 49.9 % 69.0 % 63.8 %
A2.4 7 A2.8 7= ALL5 7 ALLT 7% A0.2 7 A2.3 7= Al.4 =
A 1T k m 185.4 *, 196.7 *a 211.2 *u 156.3 *u 114.0 *u 196.5 *u 150. 3 *x
(E@1n1EYD) +3.3 *a +3.4 *u +2.5 *a +5.6 *u A0.5 *, +3.1 *a +4.6 *a
¥ #H k m 90.7 *a 99.2 *, 104.7 *a 79.7 *a 58.9 *. 97.3 *a 76.8 *u
(FB1R1ELY) +1.5 Ta +2.4 g +1.5 Ta +4.0 *q +0.0 Fx +1.8 *a +3.5
1T k mIT A 201. 45 204.00 203.05 M 193. 02 [ 196. 65 [ 202.60 193.41 M
Gefr k m i ) A2.22 [ +1.10 [ +0. 02 +1.92 [ +0. 43 A0.67 M +1.75 [
FZH k m LA 411.61 M 404. 40 1 409. 63 378.39 M 380.27 M 409. 25 1 378.59 M
(FEkn¥f) A4.27 M 40.87 H 40.85 M 2,11 H AL 18 H A2.26 H A2.02 M
o | O 25.4 [A] 27.6 [A] 29.1 [A] 17.0 [A] 12.0 [A] 27.1 [A] 16.3 [A]
(%B18154D) +0. 2 [A] +0. 4 [A] +0. 1 [A] +0. 6 [A] A0. 4 [A] +0. 2 [A] +0.5 [A]
G AN B 34.4 N 37.1 A 38.1 A 23.2 A 18.0 A 36.2 A 22.4 A\
(%10 1E%D) +0.4 A +0.5 A +0.3 A +1.0 A 0.5 A +0.4 A +0.7 A
3 #H k m 3.6 a 3.6 *u 3.6 *u 4.7 *a 4.9 *5 3.6 *u 4.7 *a
(BE1EYY) +0.1 Fa +0.0 *a +0.0 Tx +0.1 *a 0.1 *u +0.0 *a +0.1 *a
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